
  

 

 

U.G. DEGREE EXAMINATION –  
DECEMBER, 2023. 

Corporate Secretaryship/Accounting and Finance 

Second Year 

CORPORATE ACCOUNTING 

Time : 3 hours Maximum  marks : 70 

PART A — (3 × 3 = 9 marks)  

Answer any THREE questions. 

1. What is a Debenture? 

 Phß£zvμ® GßÓõÀ GßÚ? 

2. What is Redemption of debentures? 

 Phß £zvμ[PøÍ «m£x GßÓõÀ GßÚ? 

3. What are the characteristics of a company? 

 {Ö©zvß C¯À¦PÒ ¯õøÁ? 
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4. What is Amalgamation? 

 J¸[Qøn¨¦ GßÓõÀ GßÚ? 

5. What are the modes of winding up? 

 Pø»¨¤ß ÁÈPÒ ¯õøÁ? 

PART B — (3 × 7 = 21 marks)  

Answer any THREE questions. 

6. Ram Ltd. purchased assets of Rs.8,00,000 from 
Anil Bros. It issued equity shares of Rs.100 each 
fully paid up in satisfaction of their claim. Make 
journal entries to record these transactions. 

 μõ® ¼ªöhm AÛÀ ¤μuºì {ÖÁÚzvhª¸¢x 
¹.8,00,000 ö\õzxUPøÍ Áõ[Q¯x. AÁ¸US 
ö\¾zu ÷Ási¯ öuõøPUPõP \õuõμn £[SPÒ 
¹.100 Ãu® öÁÎ°mhx. CuØPõÚ SÔ¨÷£mk 
£vÄPøÍ u¸P. 

7. The Balance Sheet of Gayathri Co. Ltd. As on  
31st December 2018, was as under 

 Rs. 

Share Capital : 

2,00,000 Equity shares of Rs.10 each 20,00,000

3,00,000 6% Redeemable Preference 

shares of Rs.10 each 30,00,000

Capital reserve 15,00,000
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 Rs. 

General Reserve 9,00,000

Profit and loss a/c 25,50,000

 The company exercise its option to redeem the 
Preference shares on 1st January 2019. 

 The company has sufficient cash. Give journal 
entries to record the redemption issue at par. 

 ¹. 

£[S •uÀ : 

2,00,000 \õuõμn £[SPÒ u»õ ¹.10  20,00,000

3,00,000 6% «mkU öPõÒÍUTi¯ 

•ßÝ›ø© £[SPÒ u»õ ¹.10  30,00,000

‰»uÚ Põ¨¦ 15,00,000
ö£õx Põ¨¦ 9,00,000
»õ£ |mhU PnUS 25,50,000

 •ßÝ›ø© £[SPøÍ áÚÁ› 1, 2019 AßÖ 
«möhk¨£uØPõÚ Â¸¨£zøu {ÖÁÚ® 
£¯ß£kzxQÓx. {ÖÁÚzvÀ ÷£õx©õÚ £n® 
EÒÍx. •P ©v¨¤À «m£uØPõÚ SÔ¨÷£mk 
£vÂøÚ u¸P. 

8. Give a brief account about Managerial 
Remuneration. 

 ÷©»õÍºPÎß \®£Í® SÔzx ÂÁ›. 
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9. Raman Ltd. agrees to purchase the business of 
Krishnan Ltd. on the following terms. 

 (a) For each of 10,000 shares of Rs.10 each in 
Krishnan Ltd. 2 shares in Raman Ltd of 
Rs.10 each will be issued at an agreed value 
of Rs.12 per share. In addition, Rs.4 per 
share cash also will be paid. 

 (b) 8% debentures worth Rs.80,000 will be 
issued to settle the Rs.60,000 9% debentures 
in Krishnan Ltd.  

 (c) Rs.10,000 will be paid towards expenses of 
winding up. 

  Calculate the Purchase consideration. 

 μõ©ß ¼ªöhm ¤ßÁ¸® {£¢uøÚPÎß£i 
Q¸ènß ¼ªöhmiß öuõÈø» Áõ[P J¨¦ 
öPõshx. 

 (A) Q¸ènß ¼ªöhmiß ¹.10 Ãu® ©v¨¦ÒÍ 
10,000 £[SPÒ JÆöÁõßÔØS® μõ©ß 
¼ªöhmiÀ ¹.10 Ãu® ©v¨¦ÒÍ 2 £[SPÒ 
JßÖ ¹.12 Ãu® AÎUP¨£h ÷Ásk®. 
CuÝhß Tku»õP JÆöÁõ¸ £[QØS® ¹.4 
Ãu® öμõUP® AÎUP¨£h ÷Ásk® 

 (B) Q¸ènß ¼ªöhmiß ¹.60,000 9% 
PhÜmk¨ £zvμ[PøÍ wºÄ ö\´ÁuØS 
¹.80,000 8% PhÛmk¨ £zvμ[PÒ öÁÎ°h 
÷Ásk® 

 (C) Pø»¨¦ ö\»ÄPÐUPõP ¹.10,000 ÁÇ[P¨£h 
÷Ásk®. 

  öPõÒ•uÀ ©Ö£¯øÚU PnUQkP. 
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10. A liquidator is entitled to receive remuneration  
@ 2% of the assets realized and 3% on the amount 
distributed among the unsecured creditors. The 
assets realized Rs.70,00,000 against which 
payment was made as follows : 

 Liquidation expenses Rs.50,000 

 Preferential creditors Rs.1,50,000 and 

 Secured creditors Rs.40,00,000 

 Unsecured creditors Rs.30,00,000. 

 Calculate the total remuneration payable to the 
liquidator. 

 J¸ Pø»¨£õÍ¸US Fv¯® ö£Ó E›ø© EÒÍx  

@ 2% Enμ¨£mh ö\õzxUPÒ ©ØÖ® 3% 
£õxPõ¨£ØÓ PhÚõÍºPÎøh÷¯ Â{÷¯õQP¨£mh 
öuõøP°À ö\õzxUPÒ ¹.70,00,000 AuØS GvμõP 
RÌUPshÁõÖ ö\¾zu¨£mhx : 

 Pø»¨¦ ö\»ÄPÒ ¹.50,000 

 •ßÝ›ø© Phß ÁÇ[S£ÁºPÒ ¹.1,50,000 ©ØÖ® 

 £õxPõ¨£õÚ PhÚõÍºPÒ ¹.40,00,000 

 £õxPõ¨£ØÓ PhÚõÎPÒ ¹.30,00,000. 

 Pø»¨£õÍ¸US ö\¾zu ÷Ási¯ ö©õzu 
Fv¯zøuU PnUQk[PÒ. 
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PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions. 

11. Explain the different kinds of shares. 

 £[SPÎß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

12. Short notes : 

 (a) Cum-interest quotation 

 (b) Capital Redemption Reserve 

 (c) Profits prior to incorporation of company. 

 (A) Ámiø¯ EÒÍhUQ¯ Âø»ø¯U öPõsh 
J¨£¢u¦ÒÎ 

 (B) ‰»uÚ «m¦ Põ¨¦ 

 (C) J¸ {Ö©® £vÄ ö\´ÁuØS •¢øu¯ 
C»õ£®. 

13. The alpha manufacturing company ltd. was 
registered with a nominal capital of 60,000 equity 
shares of Rs.10 each. The following is the list of 
balances extracted from its books on  
31st December 2013. 

 Rs. 

Calls in arrear 7,500

Premises 3,00,000

Plant 3,30,000

Interim dividend 37,500

Stock 1.1.13 75,000
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 Rs. 

Fixtures 7,200

Debtors 87,000

Goodwill 25,000

Cash in hand 750

Cash at bank 39,900

Purchases 1,85,000

Preliminary expenses 5,000

Wages 84,865

General expenses 16,835

Freight 13,115

Salaries 14,500

Directors fees 5,725

Bad debts 2,110

Debenture interest paid 9,000

Subscribed and called up capital 4,00,000

6% Debentures 3,00,000

Profit and loss a/c (cr.) 14,500

Bills payable 38,000

Creditors 50,000

Sales 4,15,000

General Reserve 25,000

Bad debts provision 3,500
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 Prepare Profit and loss a/c and Balance Sheet in 
proper form after considering the following 
adjustments : 

 (a) Depreciate plant by 10% 

 (b) Write off Rs.500 from Preliminary expenses 

 (c) Provide half year’s debenture interest due 

 (d) Create 5% Provision on debtors 

 (e) Closing stock Rs.95,000. 

 BÀ£õ EØ£zv {Ö©® JÆöÁõßÖ® ¹.10 
©v¨¦ÒÍÚ 60,000 ÷|ºø©¨ £[SPøÍ 
A[QP›UP¨£mh •u»õP öPõskÒÍx. ¤ßÁ¸® 
C¸¨¦PÒ PnU÷PkPÎ¼¸¢x 31.12.2013À 
GkUP¨£mhÚ. 

 ¹. 

AøÇ¨¦ {¾øÁ 7,500
Pmih® 3,00,000
ö£õÔ 3,30,000
CøhUPõ» £[Põuõ¯® 37,500

öuõhUP \μUS  1.1.13 75,000
ö£õ¸¢v¯øÁPÒ 7,200
PhÚõÎPÒ 87,000
|Øö£¯º 25,000
øP°¸¨¦ öμõUP® 750
Á[Q°À öμõUP® 39,900
öPõÒ•uÀ 1,85,000
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 ¹. 

öuõhUPa ö\»ÄPÒ 5,000
T¼ 84,865
ö£õxa ö\»ÄPÒ 16,835
\zu® 13,115
\®£Í® 14,500
C¯US|º Pmhn® 5,725
ÁμõUPhß 2,110
Phß £zvμ Ámi öPõkzux 9,000
AøÇzu £[S •uÀ 4,00,000

6% PhÜmk £zvμ[PÒ 3,00,000
»õ£ |mh PnUS (Á) 14,500
ö\¾zx Esi¯À 38,000
PhÜ¢÷uõº 50,000
ÂØ£øÚ 4,15,000
ö£õxU Põ¨¦ 25,000
I¯UPhß JxUS (1.1.13) 3,500

 RÌPsh \›PmkuÀPøÍ PnUQÀ Gkzu ¤ÓS, 
C»õ£ |mhU PnUS ©ØÖ® C¸¨¦ {ø»U 
SÔ¨¤øÚ E›¯ ÁiÁzvÀ u¯õ›UPÄ® : 

 (A) ö£õÔ°ß «x ÷u´©õÚ® 10% 

 (B) öuõhUP ö\»ÄPÎÀ ¹.500 ÷£õUöPÊxP 

 (C) Phß £zvμ Ámi Aøμ¯õskUS uμ 
÷Ási²ÒÍx 
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 (D) PhÚõÎPÒ «x 5% I¯UPhß JxUS 
HØ£kzxP 

 (E) CÖva \μUS ¹.95,000. 

14. S Ltd is absorbed by R Ltd the consideration being  

 (a) The taking over of the trade liabilities of 
Rs.40,000 

 (b) The payment of cost of absorption Rs.15,000 

 (c) The repayment of ‘B’ debentures of S Ltd of 
Rs.2,00,000 at par 

 (d) The discharge of ‘A’ debentures of 
Rs.3,00,000 in the vendor company at a 
premium of 10% by the issue of  
8% debentures in R Ltd at par. 

 (e) A payment of Rs.20 per share in cash and 
the exchange Rs.4 fully paid Rs.10 shares in 
R Ltd. at a market price of Rs.15 per share 
for every Rs.50 shares in S Ltd. which were 
40,000 in number. Calculate the purchase 
consideration. 

 R ¼ªöhm, S ¼ªöhmøh DºzxU öPõshx,  
DhõP : 

 (A) Â¯õ£õμU PhßPÒ ¹.40,000 GkzxU 
öPõÒÐuÀ 

 (B) Dº¨¦a ö\»ÄPÒ ¹.15,000 

 (C) S ¼ªöhmiß ‘B’ Phß£zvμ[PÒ ¹.2,00,000 
•P©v¨¤À ö\¾zxuÀ 
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 (D) ÂØ£øÚ¯õÍº {ÖÁÚzv¾ÒÍ ¹3,00,000 ‘A’ 
Phß£zvμ[PøÍ 10% •øÚ©zvÀ 
ö\¾zxuÀ, CuØS DkõP R ¼ªöhmiÀ 
EÒÍ 8% Phß£zvμ[PøÍ •P©v¨¤À 
ÁÇ[SuÀ 

 (E) öμõUP©õP JÆöÁõ¸ £[QØS® ¹.20 
ö\¾zxuÀ, S ¼ªöhmiÀ EÒÍ JÆöÁõ¸ 
¹.50 £[QØS® R ¼ªöhm ¹.10 ©v¨¦ÒÍ 
£[SPÒ, 4 •ÊÁx® ö\¾zu¨£mh 
£[SPøÍ \¢øu ©v¨¦ ¹.15 JÆöÁõ¸ 
£[S® ÁÇ[SQÓx. S ¼ªöhm £[SPÒ – 
40,000. 

  öPõÒ•uÀ ©Ö£¯ß PnUQkP. 

15. Knight Co. Ltd went into voluntary liquidation on 
31.12.2014 when the Balance Sheet as follows : 

Liabilities Rs. Assets Rs. 

Issued and  Land and 

Subscribed Capital :  Buildings 7,50,000

15,000, 10%  Plant and 

Cumulative  Machinery 18,75,000

Preference   Patents 3,00,000

shares of Rs.100  Stock 4,02,500

each fully paid 15,00,000 Sundry debtors 8,25,000

7,500 equity  Cash at bank 2,25,000

shares of Rs.100  Profit and loss a/c 8,53,750

each, Rs.75 paid 5,62,500  
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Liabilities Rs. Assets Rs. 

22,500 equity    

shares of Rs.100   

each, Rs.60 paid 13,50,000  

15% debentures   

secured by a    

floating charge 7,50,000  

Interest outstanding   

on debentures 1,12,500  

Creditors 9,56,250  

 52,31,250  52,31,250

 Preference dividends were in arrears for 2 years 
and the creditors included Preferential creditors of 
Rs.38,000. 

 The Assets were realized as follows : 

 Land and buildings Rs.9,00,000 ; Plant and 
Machinery Rs.15,00,000 ; Patents Rs.2,25,000 ; 
Stock Rs.4,50,000 ; Sundry debtors Rs.6,00,000. 

 The expenses of liquidation amounted to 
Rs.27,250. The liquidator is entitled to a 
commission of 3% on assets realized except cash. 
Assuming the final payments including those on 
debentures were made on 30.06.2015, show the 
liquidator’s Final statement account. 
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 ø|m ÷Põ, ¼ªöhm 31.12. 2014 AßÖ ußÚõºÁ 
Pø»¨¦US ö\ßÓx. C¸¨¦ {ø» SÔ¨¦ 
¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

ÁÇ[P¨£mhx ©ØÖ® {»U 

ö£Ó¨£mhx  Pmih[PÒ 7,50,000

15,000, 10% Bø» ©ØÖ® 

Jmkö©õzu  C¯¢vμ[PÒ 18,75,000
Â¸¨£® 15,00,000 Põ¨¦›ø©PÒ 3,00,000

7,500 £[S  \μUS 4,02,500
£[SPÒ u»õ PhÚõÎPÒ 8,25,000

¹.100 ¹.75 Á[Q öμõUP® 2,25,000

ö\¾zu¨£mhx 5,62,500 »õ£ |mh PnUS 8,53,750

22,500 £[S  
£[SPÒ ¹.100  
u»õ ¹.60  
ö\¾zu¨£mhx 13,50,000  
ªuUS®   
PmhnzuõÀ   
£õxPõUP¨£mh 15%  
Phß £zvμ[PÒ 7,50,000  
Phß £zvμ[PÎÀ  
{¾øÁ°À EÒÍ Ámi 1,12,500  
PhÜ¢÷uõº 9,56,250  
 52,31,250  52,31,250
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 •ßÝ›ø© DÄzöuõøP 2 BskPÍõP {¾øÁ°À 
C¸¢ux ©ØÖ® PhÚÎ¨£ÁºPÎÀ •ßÝ›ø© 
PhÜ¢÷uõ›ß öuõøP ¹.38,000 ÷\º¢xÒÍx. 

 ö\õzxUPÒ ¤ßÁ¸©õÖ ÂØP¨£mkÒÍÚ : 

 {»® ©ØÖ® Pmih[PÒ ¹.9,00,000 ; Bø» ©ØÖ® 
C¯¢vμ[PÒ ¹.15,00,000 ; Põ¨¦›ø© ¹.2,25,000 ; 
£[S ¹.4,50,000 ; PhÚõÎPÒ ¹.6,00,000. 

 Pø»¨¦UPõÚ ö\»ÄPÒ ¹.27,250. uÂμ öμõUPzøu 
ÂØP¨£mh ö\õzxUPÐUS 3% PªåÝUS Pø»¨¦ 
AvPõ› E›ø© Esk. 30.06.2015, AßÖ 
PhÜmkz öuõøP EÒÎmh CÖvU öPõk¨£ÚÄPÒ 
ö\´¯¨£mhuõPU P¸v, Pø»¨£õÍ›ß CÖv 
PnUS AÔUøPø¯U Põmk. 

16. Short notes : 

 (a) Minimum subscription 

 (b) Ex-Interest quotation 

 (c) Contingent liabilities. 

 ]Ö SÔ¨¦ ÁøμP : 

 (A) SÖ© £[öPõ¨£® 

 (B) Ámi }[P»õÚ ÷©Ø¦ÒÎ 

 (C) Gvº ÷|õUS® ö£õÖ¨¦. 

17. Explain importance of contingent liability. 

 {PÌÄ\õº ö£õÖ¨¦PÒ •UQ¯zxÁ® £ØÔ 
ÂÍUSP. 

––––––––––––– 



  

 

 

U.G. DEGREE EXAMINATION –  
DECEMBER 2023 

Accounting and Finance / Computer Application 

Second Year 

BUSINESS STATISTICS 

Time : 3 hours Maximum  marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions in 
100 words. 

All questions carry equal marks. 

1. What is mean? 

 \μõ\› GßÓõÀ GßÚ? 

2. What is a range in statistics? 

 ¦ÒÎ°¯¼À Ãa_ GßÓõÀ GßÚ? 

3. What do you mean by regression? 
 öuõhº¦÷£õUS £ØÔ }º AÔÁx ¯õx? 
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4. What is index number? 
 SÔ±mk Gs GßÓõÀ GßÚ? 

5. Give a note on moving average. 
 |P¸® \μõ\› £ØÔ SÔ¨¦ u¸P. 

PART B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

All questions carry equal marks. 

6. The following table gives the average approximate 
yield of rice in ibs. Per acre in various countries of 
the world in 1938-39.  

Country India Siam USA Italy Egypt Japan

Yield in lbs. 728 943 1,469 2,903 2,153 2,276

 Indicate this by a suitable diagram which will 
highlight the relative backwardness of India in 
this regard. 

¤ßÁ¸® AmhÁøn ÂÁμ[PÒ AuõÁx E»P® 
•ÊÁx® £À÷ÁÖ |õkPÎÒ 1938&39 \μõ\› A›] 
Ibs ÂøÍa\À ÷uõμõ¯©õP J¸ HUP¸US 
öPõkUP¨£mkÒÍx. 

|õk C¢v¯õ ]¯õ® ²GìH Czuõ¼ GQ¨x á¨£õß
ÂøÍa\À 

Ibs  
728 943 1,469 2,903 2,153 2,276 

 ÷©ØPõq® ÂÁμ[PøÍU öPõsk C¢v¯õ 
ÂøÍa\¼À ¤ßu[Q¯uØS ö£õ¸zu©õÚ 
£h[PÐhß SÔ°mk PõmkP. 
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7. The mean and SD of 20 items is found to be 10 and 

2 respectively. At the time checking it was found 

that one item 8 was incorrect. Calculate the mean 

and SD if the wrong item is replaced by 12. Give 

the answer correct to 2 places after decimal. 

 20 E¸¨£iPÎß \μõ\› ©ØÖ® SD •øÓ÷¯ 10 

©ØÖ® 2 GÚU PshÔ¯¨£mkÒÍx. A¨÷£õx 
\›£õºzuvÀ J¸ E¸¨£i 8 uÁÓõP C¸¢ux 
Psk¤iUP¨£mhx. uÁÓõÚ E¸¨£iø¯ 12 BÀ 

©õØÔÚõÀ \μõ\› ©ØÖ® SD IU PnUQhÄ®. 

£vø» u\©zvØS¨ ¤ÓS 2 Ch[PÐUSa \›¯õPU   

öPõk[PÒ. 

8. Calculate the coefficient of correlation between  
x and y for the following data. 

 x :  1 3 5 8 9 10 

 y :  3 4 8 10 12 11 

 ¤ßÁ¸® uμÄPÐUS x ©ØÖ® y Cøh÷¯ EÒÍ 
JmkÓøÁU öPÊ PnUQhÄ®. 

 x :  1 3 5 8 9 10 

 y :  3 4 8 10 12 11 

9. From the fixed base index number given below 
prepare chain base index number.  

 Year :  1966   1967  1968  1969  1970 1971 

 Index : 94  98 102 95 98 100 
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 R÷Ç öPõkUP¨£mkÒÍ {ø»¯õÚ Ai¨£øh 
SÔ±mk Gso¼¸¢x \[Q¼ Ai¨£øh SÔ±mk 
Gsønz u¯õ›UPÄ®.  

 Bsk :  1966  1967  1968  1969  1970 1971 

 AmhÁøn :  94 98 102 95 98 100 

10. The sales of a commodity in tonnes varied from 
January 1979 to December 1979 as follows.  

 280 300 280 280 270  240 

 230 230 220 200 210  200 

 Fit a trend line by the method of semi-average. 

 hßPÎÀ J¸ ö£õ¸Îß ÂØ£øÚ áÚÁ› 1979 
•uÀ i\®£º 1979 Áøμ ¤ßÁ¸©õÖ ©õÖ£kQÓx. 

 280 300 280 280 270  240 

 230 230 220 200 210  200 

 Aøμ & \μõ\› •øÓ°ß ‰»® J¸ ÷£õUS Á›ø¯ 
ö£õ¸zuÄ®. 

PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

All questions carry equal marks. 

11. Enumerate the data collection methods. 

 uμÄ ÷\P›¨¦ •øÓPøÍ ÂÁõvUP. 
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12. Elaborate the methods of measuring dispersion. 

 ]uÓø» AÍÂk® •øÓPøÍ Â›ÁõPU TÖP. 

13. The heights (in cms) and in weights (in kgms) of a 
random sample of 8 adult mates are shown in the 
following data. 

Height (x)    : 177 163  173  182  171  168 174  184 

Weight (y)  : 71 67 77 85 69 62 73  80 

 (a) Calculate the coefficient of correlation. 

 (b) Draw the least square regression line x on y. 

 (c) Draw a scatter diagram and the fitted line  
x on y. 

 Á¯x Á¢u 8 BsPÎß ^μØÓ ©õv›°ß E¯μ[PÒ 

(ö\.«.PÎÀ) ©ØÖ® GøhPÒ (in kgms)  
¤ßÁ¸©õÖ uμÄPÎÀ Põmh¨£mkÒÍx.  

 E¯μ® (x) : 177 163  173  182  171  168 174  184 

Gøh (y)  : 71 67 77 85 69 62 73  80 

 (A) JmkÓøÁU öPÊ PnUQk[PÒ. 

 (B) y CÀ SøÓ¢u£m\ ÁºUP öuõhº¦ ÷£õUS x I 
Áøμ¯Ä®. 

 (C) J¸ ]uÓÀ Áøμ£h® ©ØÖ® y CÀ 
ö£õ¸zu¨£mh Á› x I Áøμ¯Ä®. 
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14. Construct the cost of living index number from the 
following group data. 
  Group   Weights     Group index  
           number for a  

         given year 
  Food    47  247 
  Fuel and light  07  293 
  Clothing   08  289 
  House Rent   13  100 
  Miscellaneous  14  236 

 ¤ßÁ¸® SÊ uμÄPÎ¼¸¢x ÁõÌUøPa ö\»ÄU 
SÔ±mk GsønU Pmhø©UPÄ®.  
 SÊ         GøhPÒ     SÊ SÔ±mk  

         Gs J¸ SÔ¨¤mh  
         Á¸hzvØS 

 EnÄ    47  247 
 G›ö£õ¸Ò ©ØÖ® JÎ  07  293 
 Bøh    08  289 

 Ãmk ÁõhøP   13  100 
 Cuμ ö\»ÄPÒ   14  236 

15. Calculate the seasonal indices from the following 
data using the average method. 

 Year  1st   2nd       3rd   4th 
           Quarter         Quarter    Quarter        Quarter  
 1974  72  68  80 70 
 1975   76   70  82  74 

 1976   74   66  84  80 
 1977   76   74  84  78 

 1978   78  74  86  82 
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 \μõ\› •øÓø¯¨ £¯ß£kzv ¤ßÁ¸® 
uμÄPÎ¼¸¢x £¸ÁPõ» SÔ±kPøÍU 
PnUQhÄ®. 

 Bsk  1Áx      2Áx                 3Áx 4Áx 
         Põ»õsk Põ»õsk Põ»õsk Põ»õsk 

 1974  72   68  80  70 
 1975   76    70  82   74 

 1976   74    66  84   80 
 1977   76    74  84   78 
 1978   78   74  86   82 

16. An incomplete frequency distribution is given 
below. 

Class : 0-10 10-20 20-30 30-40 40-50 50-60 60-70 Total

Frequency :  4 16 – – – 6 4 230 

 Find the missing frequencies of the table given 
their median are 33.5 and mode is 34. 

 Also calculate the mean using empirical 
relationship between mean, median and mode. 

•Êø©¯ØÓ AvºöÁs Â{÷¯õP® R÷Ç 
öPõkUP¨£mkÒÍx.  

ÁS¨¦  : 0-10 10-20 20-30 30-40 40-50 50-60 60-70 ö©õzu®

AvºöÁs :  4 16 – – – 6 4 230 

 AmhÁøn°À Âk£mh AvºöÁsPøÍU 
PshÔ¯Ä®. AÁØÔß \μõ\› 33.5 ©ØÖ® •Pk 
34. \μõ\›, Cøh{ø» ©ØÖ® •PkUS Cøh÷¯ 
EÒÍ AÝ£Á EÓøÁ¨ £¯ß£kzv \μõ\›ø¯U 
PnUQhÄ®. 
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17. Explain the differences between positive 
correlation and negative correlation. 

 ÷|º©øÓ JmkÓÄ ©ØÖ® Gvº©øÓ JmkÓÄ 
Cøh÷¯ EÒÍ ÷ÁÖ£õkPøÍ ÂÍUSP. 

 

 —————————— 


